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1. There are at least two integrative, balanced approaches to
organizational effectiveness, which are the stakeholder (also called the
constituency approach)(Anne S. Tusi, 1990; Charles Fombrun and
Mark Shanley, 1990; Terry Connolly, Edward J. Conlon, and Stuart Jay
Deutsch, 1980) and competing values approaches (Robert E. Quinn
and John Rohrbaugh, 1983).

Please describe each of these approaches, and explain the similarities
and differences between them. (30%, Answer your question in
English)

2. The garbage can model (Michael D. Cohen, James G March, and
Johan P. Olsen, 1972; Michael D. Cohen and James G. March, 1974) is
one of the most interesting descriptions of organizational decision '
processes. Please describe the four streams of events in the garbage
can model of decision making. Why are they considered to be
independent? (20%, You are allowed to answer your question either in
English or Chinese)

3. How do evolutionary change and revolutionary change differ? Under
what conditions might managers choose one approach or the other?
Give an example for each situation. (25%, You are allowed to answer
your question either in English or Chinese)

4. What is organizational learning? In what ways can managers promote
the development of organizational learning by acting at individual level,
group level, organizational level, and interorganizational level? (25%,
You are allowed to answer your question either in English or Chinese)
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1. Let X be a discrete random variable with possible values 1,2,3,...,n, all
equally likely. Find E(X) and Var(X). (10 %)

2. Let X and Y be two independent random variables with the following
p.d.fs: fy(x)=e",x>0; fi(y)=e’,p>0.

Define Z=X+Y,
(a) Find the probability distribution of Z, F(z)=P(Z<z) (5 4)
{(b) the conditional p.d.f. of X given Z, Fxiz(xlz) {5 4)

3. FHREAF 10029k 5845 80 5 24 - B-FAEELRENE %
3 EHRAEHMERSI? (¢ RAER L) (10 5)
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(@) FEHUMLTHAANENZHEEMNE - (2 %)
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-End-
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L. Consumer choice (/5 53)

(1) Suppose Novia's income elasticity of demand for food is 0.5 and her price elasticity of demand
is -1.0. Suppose also that Novia spends $10,000 a year on food, that the price ol food is $2, and
that her income is $25,000. Assume that the price elasticity measures an arc elasticity rather
than a point elasticity.

(a} I a $2 sales tax on food were to cause the price of food to double, what would heppen to
Novia’s consumption of {ood?

(b} Suppose that she is given a tax rebale of $5,000 to ease the effect of the tax. What would
her consumption of food be now?

{¢) Is she better or worse off when given a rebate equal to the sales tax payments? Discuss.

{(2) Suppose Eric has the following ulility function:
U(X,Y)=vVX + VY

where X is his consumption of candy bars, with price Px=$1, and ¥ is his consumption of
espressos, with Py—83.

(a) Derive Eric's demand functions for candy bars and espresso. (Hint: they are [unctions of
his income [.)

{b} What is his marginal utility of income.

2. Support there are two firms, 1 and 2, with demand function:

11
P=2 g — g
271 292

Assune no costs for either firm and firms compete in ”quantity setling.”

(1) Find the Nash equilibrium for the following cases:
(a) Firm 1 and firm 2 choose their quantity independently and simultaneously; (1043)
{b) Firm 1 chooses her quantity first, and then Brm 2 chooses her quantity after seeing the
quantity firm 1 produced. (104)

(2) Compare the profits of firm 1 under (1a) and (1b), and give some economic comments. {5 4})

3. The park service wants to restrict the number of visitors to a National Park to Q*, which
is fewer than the current number of visitors. It considers two policies: (i) raise the price
of admissions, or (ii) set a quota. Compare the effects of these two policies on

consumer surplus and welfare. (2043

4. Is the following statement frue, false, or uncertain? Explain.  ( 104))
Suppose there is a deadweight loss in the economy.  If we know how (o fix one problem

causing the loss, we should do so in order to increase efficiency.

5. You decide to buy a prinier for your graduate program assignments. You need to print
in black and white (only). In 2003, you can buy a personal laser printer for $8000 or an
ink-jet printer for $3200 that print 10 pages a minute at the same density (1200 dots per
inch). The cost of ink and paper ts about $1.6 per page for a laser compared to about
$2.8 per page for an ink jet. On a single diagram, draw the short run (SR) average cost
curves of the laser and ink-jet printers and the long run (LR) average cost curve.
Suppose a printer lasts two years. Explain how your choice of printer should depend on

the number of pages you intend to print.  {2043-)




